

$$\lim_{x \rightarrow 1} \frac{x+5}{x^3+1} = \frac{1+5}{1^3+1} = \frac{6}{2} = 3$$

3

$$\lim_{x \rightarrow 1} \frac{x^2-3x+2}{x^2-1} = \frac{0}{0}$$

$$= \lim_{x \rightarrow 1} \frac{(x-1)(x-2)}{(x-1)(x+1)} = \lim_{x \rightarrow 1} \frac{x-2}{x+1} = \frac{1-2}{1+1} = -\frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{2x}{\sqrt{1+3x}-1} =$$

$\frac{4}{3}$

$$= \lim_{x \rightarrow 0} \frac{2x(\sqrt{1+3x}+1)}{(\sqrt{1+3x}-1)(\sqrt{1+3x}+1)} = \lim_{x \rightarrow 0} \frac{2x(\sqrt{1+3x}+1)}{1+3x-1} =$$

$$= \lim_{x \rightarrow 0} \frac{2x(\sqrt{1+3x}+1)}{3x} = \lim_{x \rightarrow 0} \frac{2(\sqrt{1+3x}+1)}{3} = \frac{2(\sqrt{1}+1)}{3} = \frac{4}{3}$$

$$\lim_{x \rightarrow 1} \frac{\sqrt{x}-1}{\sqrt{x^3}-1} = \lim_{x \rightarrow 1} \frac{\sqrt{x}-1}{(\sqrt{x})^3-1^3} =$$

$$a^3-b^3 = (a-b)(a^2+ab+b^2)$$

$$= \lim_{x \rightarrow 1} \frac{\sqrt{x}-1}{(\sqrt{x}-1)((\sqrt{x})^2 + \sqrt{x} \cdot 1 + 1^2)} =$$

$$= \lim_{x \rightarrow 1} \frac{1}{(\sqrt{x})^2 + \sqrt{x} + 1} = \frac{1}{3}$$

R

$$\lim_{x \rightarrow 0} \frac{\sin 2x}{7x}$$

$$\lim_{x \rightarrow 0} \frac{\sin x}{x} = 1$$

$\frac{2}{7}$

$$\lim_{x \rightarrow 0} \frac{\sin 2x}{2x} \cdot \frac{2}{7} = \lim_{t \rightarrow 0} \frac{\sin t}{t} \cdot \frac{2}{7} = 1 \cdot \frac{2}{7} = \frac{2}{7}$$

$t = 2x$

$$\frac{\sin 2x}{7x} = \frac{1}{7} \cdot \frac{\sin 2x}{x} = \frac{1}{7} \cdot 2 \frac{\sin x}{2x}$$

$$\lim_{x \rightarrow 0} \frac{1}{2x \cos 3x} =$$

$$\cot x = \frac{\cos x}{\sin x}$$

$$= \lim_{x \rightarrow 0} \frac{1}{2x \frac{\cos 3x}{\sin 3x}} = \lim_{x \rightarrow 0} \frac{\sin 3x}{2x \cos 3x} =$$

$$= \lim_{x \rightarrow 0} \left(\frac{\sin 3x}{2x} \right) \cdot \left(\frac{1}{\cos 3x} \right) = \frac{3}{2} \cdot 1 = \frac{3}{2}$$

$\downarrow \frac{3}{2}$ $\downarrow 1$

$$\lim_{x \rightarrow 0} \frac{\sin 2x}{\sqrt{2x+4}-2} =$$

4

$$= \lim_{x \rightarrow 0} \frac{\sin 2x (\sqrt{2x+4}+2)}{(\sqrt{2x+4}-2)(\sqrt{2x+4}+2)} =$$

$$= \lim_{x \rightarrow 0} \frac{\sin 2x (\sqrt{2x+4}+2)}{2x+4-4} = \lim_{x \rightarrow 0} \frac{\sin 2x (\sqrt{2x+4}+2)}{2x}$$

$$= \lim_{x \rightarrow 0} \left(\frac{\sin 2x}{2x} \right) \cdot \lim_{x \rightarrow 0} (\sqrt{2x+4}+2) =$$

$\downarrow 1$

$$= 1 \cdot (\sqrt{4} + 2) = \underline{\underline{4}}$$

$$\lim_{x \rightarrow 0} \underbrace{x^2}_{\downarrow 0} \underbrace{\sin \frac{1}{x^2}}_{\text{ogranić.}} = 0$$

$$\underbrace{h(x)}_{\downarrow 0} = \underbrace{f(x)}_{\downarrow 0} \underbrace{g(x)}_{\text{ogranić.}}$$

$$\lim_{x \rightarrow \infty} \frac{x^2}{2^x} = \lim_{x \rightarrow \infty} \underbrace{x^2}_{\text{ogranić.}} \underbrace{\left(\frac{1}{2^x}\right)}_{\downarrow 0} = 0$$

$$\begin{aligned} \lim_{x \rightarrow 1} \frac{\sin(x^2 - 1)}{x - 1} &= \lim_{x \rightarrow 1} \frac{\sin(x^2 - 1)}{(x - 1)(x + 1)} = \\ &= \lim_{x \rightarrow 1} \frac{\sin(x^2 - 1)}{(x^2 - 1)} (x + 1) = \lim_{x \rightarrow 1} \frac{\sin(x^2 - 1)}{x^2 - 1} \cdot \lim_{x \rightarrow 1} (x + 1) \end{aligned}$$

$$\cdot \lim_{x \rightarrow 1} (x + 1) = \lim_{t \rightarrow 0} \frac{\sin t}{t} \cdot 2 = 1 \cdot 2 = 2$$







